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Peakuunn pasAoXeHuUs
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- 2HO - 2H. + O Peakuyuu pa3noxeHus
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~ CH4 — C + 2H: 90 -0:0
+ =78

= 2A1203 — 4Al + 302 AB: A

= Cas3(PO4)2 —» P20s5 + 3CaO
= CaCOs » CaO + CO2




Peakuun coeAuMHeHuUs

= CaO + H20 — Ca(OH) Peakuunsa coeguHeHus
= CO2+ H20 «— H2COs a0 e - i e

= 2P20s5 + 3H20 — 2H3POa4
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Peakuuu sameLLeHuns

= Al2O3 + 3H2 — 3H20 + 2Al
~ Fe,0, + 2Al — ALO, + 2Fe
~ Fe203+ 3C — 3CO + 2Fe ABovg Coonor: Dok
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Peakuusa oomeHa

~ 3Nq,CO, + 2H,PO, —
2Na,PO, + 3H,0 + 3CO,

Peakuunsg obmMeHa

AB 4 - C

a1

— CB 4 A

-1




AoMALLIHEE 30A0HME

- 8§34 No |

= MNoBTOPUTL CPOPMYADbI  AAA
PACYETA KOAUYECTBA BELLLECTBA

7n__lV__ V
"TMT N, Vy




